Political Methodology Comprehensive Examination

Department of Political Science

The George Washington University

May 2006

Part I. To be completed in 5 hours (open book)
1. This question uses the data in the Stata data file PrelimMay06.dta.  

The data are exit poll data from the 1988 Democratic Super Tuesday primary.

The dependent variable here is vote, which indicates who the respondent voted for in the primary.  The basic description of the variables of interest are as follows:

              storage  display     value

variable name   type   format      label      variable label

-----------------------------------------------------------------------------

vote            byte   %8.0g       vote       Who did R vote for?

fundevan        byte   %8.0g                  Fundamentalist or evangelical

                                                Christian?

south           byte   %8.0g                  grew up in south?

male            float  %9.0g                  Male = 1, Female = 0

moderate        float  %9.0g                  R thinks of self as moderate,

                                                ideol==2

conserv         float  %9.0g                  R thinks of self as

                                                conservative, ideol==3

indepen         float  %9.0g                  R thinks of self as independent

repub           float  %9.0g                  R thinks of self as Republican

educ            byte   %8.0g                  R's level of education

income          byte   %8.0g                  R's income level

(a)  Model vote as a function of (fundevan south male moderate conserv indepen repub educ inc), present the basic results, then answer the following questions.

(b)  Strictly in terms of model fit, are you justified in excluding any of the independent variables from the analysis?  Why or why not?

(c)  For which candidate is the substantive effect of being a Fundamentalist or evangelical Christian the largest?

(d)  Would it be reasonable to collapse any of the candidates into groups of candidates?  Why or why not?

2. A legislative chamber is split 55%/45% between the majority and minority parties.  If members are assigned at random to a seven-member committee, what is the probability that the minority party makes up a majority on the committee?

3. On a set of normally distributed test scores, Goofus scores 64 and is at the 15th percentile, while Gallant scores 90 and is at the 95th percentile.  What are the mean and standard deviation of the test scores?

4. You have estimated the following regression model in a paper on legislative behavior:
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Where the IGj variables represent different interest group scores, scaled from conservative (0) to liberal (100).  A reviewer advocates combining the four interest group scores into an average score, but you are concerned about the loss of information.  Given the above equation, how can you test whether the reviewer’s suggestion is a reasonable one that does not result in the loss of information?  Clearly state the null and alternative hypothesis for your test.

5. With a random sample of data from a recent European election, you have estimated a model to predict whether or not a voter votes for the left party (voteleft = 1 if the voter voted for the left party; voteleft = 0 if the voter did not vote for the left party).  Your model has two variables, a gender dummy (male = 1 if voter is male, else 0) and an ideology measure (ideol, which is continuous).   

. probit voteleft male ideol

Iteration 0:   log likelihood = -1239.0906

Iteration 1:   log likelihood = -1188.1956

Iteration 2:   log likelihood = -1187.7969

Iteration 3:   log likelihood = -1187.7968

Probit regression                                 Number of obs   =       1867

                                                  LR chi2(2)      =     102.59

                                                  Prob > chi2     =     0.0000

Log likelihood = -1187.7968                       Pseudo R2       =     0.0414

------------------------------------------------------------------------------

    voteleft |      Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

        male |  -.7719352   .0791048    -9.76   0.000    -.9269777   -.6168927

       ideol |   .0012482   .0100529     0.12   0.901    -.0184552    .0209516

       _cons |   -.156525   .0330913    -4.73   0.000    -.2213829   -.0916672

------------------------------------------------------------------------------

Given these results, what is your best guess for the percentage of women who did not vote for the left party?  Explain your reasoning. 

6. Suppose there are three possible policies: X, Y, and Z. Person 1 prefers X to Y to Z. Person 2 prefers Z to Y to X. Suppose these two people select the policy by alternately vetoing policies until one remains. First, person 1 vetoes a policy. If more than one policy remains, person 2 vetoes a policy. 

 

a) Model this as an extensive form game;

b) Find the Nash equlibria;

c) Find the subgame perfect equilibria;

d) Are there any preference orderings for which the outcome in a subgame perfect equilibrium of a game in which person 1 moves first differ from the outcome in a subgame perfect equilibrium in which player 2 moves first? 

 

Part II.  Submit an empirical research paper along with the exam.
_1082608494.unknown

